EARAROBEEIERT — 2 N— IBISH —F

2014565230 (B) 3EIKR6H

mi%#i%ic 24 YR —M BRI R
[AE£] 1% :140,000 ™ ~ 2#%:28,000 ™M ~ 33%&:14,000 M . 43 :10,000 57 :4,000
& % B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
5573 i # 4 | HER 1:31.2 5-4-2-3 | 40.8| — 3 421 | 1EBE#RE] (KR)
1lsls|7773—3 54.0 (=) (-g) | BRAZL
L2V I F— B:USEYILT A BRAS
3 i 4 6 | BERE 1:31.3 2-2-4-5 | 40.8| — 2 446 | RS (BEFE)
2|11 |F—3ILTUX 56.0 (1/2) (-6) | EEAZ
L= ATa— BNTYLTTFAR B Bz
Y it 4 | HEEME— 1:31.3 -1-1-1 |41 — 1 510 | #EEZ (KiR)
3|8 10| ¥ Tx=~7/NT— 54.0 (7€) Loy | @®) 75> ks
LiZEFa—FTUNTF 4 BALFLTHEAGTS Py ¢
s . o8 | WAEEE 1:31.3 8-7-5-4 |40.6| — 5 494 | EBEE— (KIR)
sy 4| 2TTZIER 56.0 (74%) Loy |WFEE
R:ErTHhI— BasyFendoE i tie]
AN . 6 | ROB— 1:31.5 10-9-10-9 | 40.4 | — 4 452 | HEEE (KiR)
5 6 Il i I e g 56.0 (1 1/4) (-3) 73’(1”;5
R:HI5TLIFLh BiRf—bLY—F [aiLie]
S it 6 | BAE 1:31.6 7-8-5-6 |40.9| — 6 441 | REFK (EER)
6l8lg|AT—Fr>3al 54.0 (7 £) “2) HaEER
AR w4 =7 BXA—KNEZY b 2R s
. N mlRE . ~10-8—f — iR (R
22l 7 47— T—nT TR [EE I A P | e
L:A-Y XA x4 B:2drA b RS
S, @ o= EiEgE : -3-2- = FHETF (KR)
8 3| FENFATTY i 7 oy 1.(332).2 2-3-2-1 | 41.9 7 zzg;t (75)—1—7{31«
RiZa—A2F5>F BHF NFSTY— =AHE @
S A FEEEA 132, —~6-9— . — ZHEE (KR)
9 2 KFJITYHENZ 4 4 ;4_0 1(322)5 6-6-9-8 | 41.5 9 (3576) Kﬂﬁﬁ%ﬁ—?—
AL F 21— BILN—g—T> hEFHhTT7—L4
- =98 2 o EATE 2328 -5-5- . — 1EEHEZ (KR
1017 8 TRIvITFHEALL 4 6 54.16 (173925) 4-5-5-10 | 41.8 10 (4:3;) il
RN—VIF4 BHAILITHTI— BB T 7 — L
® 1—F—@EBIERL
13—7+— 10,(1,3),8,5,2,9,4,7,6
20—F+— 10,1,3,5,8,2,4,9,6,7
33—7— |10,(3,5),1,(4,8,9),7,2,6
40—F— (3,10),5,4,1,(7,9),2,6,8
[ /N
B 5 830H 714K 1-5 560M e E 1-5 1,7408 JEE 1-5-10 990F4
B B 5 170 5-10 420M B = 19 1,730 EE 5-1-10 12,290H
1 120 1-10 160M B H 5-1 4,330H
10 110

ABICOVWTRDTEEERROODE. TR LIV,



